ARCOS Office
UHCTPYKUMM NO yCTAaHOBKE 3aMKa/ OTBETHOI KOPOOKMU

3aMOK NoCTaBNSETCs NOSHOCTbIO COGPaHHbIM. Y6eamTecs,
4TO Ha KPEenexHOV MOBEPXHOCTY CTEKSA B MECTE YCTaHOBKM
3amKa 1 OTBETHOM KOPOOKU HET CMasku.

1. YcraHoBka 3amka (G)

OTBEPHUTE BUHTbI C YTOMJIEHHBIMM FONI0BKaMK (4) CO CTOPOHbI
3aLLenKku.

2. CHUMUTE KpbILKY (3).

3. OTBEpPHMUTE [Ba CTABLUNX BUAUMBIMU BUHTA C YTOMIEHHOMN
ronoskoit M6x30 (5) ¢ NOMOLLbIO KNtoYa-LIEeCTUrpaHHNKa Ha 4
MM 1 0TCOEAMHNTE NNacTUHy 3amka (6) ¢ 3amkom (7) ot
OTBETHOW NNacTuHbl (9).

4. MNepepn yCTaHOBKOM 3amKa HaK/enTe BXOASLLYIO B KOMMAEKT
ANIOMUHMEBYIO NaHKY (8) C BHYTPEHHE CTOPOHbI HA CTEKJIIO.
MnaHka He NO3BONSET YBMAETL 3aMOK CO CTOPOHbI KOPOTKOM
4acTn OMOPHON NACTUHLI. Nocne ycTaHOBKM 3amka 06pexbTe
BbICTYMAIOLLLYO YaCTb NAAHKM.

5. MNpuBEPHUTE NIACTMHY 3aMKa C CAMUM 3aMKOM K OTBETHOW
NnacTUHe, 3aKPENVB UX HA CTEKIE.

MoMEeHT 3aTsXku BUHTOB = 5 HM.

6. MNpuBEPHUTE KPBILLKY (3) BUHTAMU C YTOMIEHHOI rON0BKOI
(4) n ycTaHOBMTE HaXMMHbIe py4ku (1). ing Toro 4Tobbl B
[anbHenLEeM MOXHO BbINI0 CHATb PO3ETKY PYHKU, 32XUM
[LOMKeH ObITb MO BO3MOXHOCTMW BULAEH CBEPXY HA OCHOBAHWUMN
PO3ETKM PyUKM (2).

BHumaHue:

MpodunbHbIV LUIMHAPUYECKMIA 3aMOK CHAGXEH
crneumnanbHON 3aXKMMHOW ralikoi, KOTopas 3aBopavnBaeTcs
TYro 1 nNpy YCTaHOBKE KOTOPOW HEOOXOAMMO NPEOLONeTb
HEKOTOPOE COMPOTUBIEHNE.

7. YcTaHOBKa OTBETHOW Kopo6ku (F)

BcTaBbTe Tpy6ku (15) B 0TBepCTUS B cTekne. CoeanHuTe
4yepes 3TN OTBEPCTUS 3aXKMMHYIO NNacTuHy (14) 1 0TBETHYIO
nnacTuHy (16) ¢ NOMOLLbIO BUHTOB C YTOMIEHHOW rOSI0BKOMN
pasamepom M6x30 (13) (Mcnonb3ys KoY-LWeCTUrPaHHUK Ha 4
MM). 3akpenuTe Kpbilwkn (12) n (17) Ha 3aXXMMHON nnacTuHe
1 OTBETHOI NiacTUHE, N 3aKPENUTE UX CO CTOPOHbI WTNdTa
(11) BUHTaAMK ¢ yTOnneHHoM ronoskoit (10).

MosicHeHUs K uNNoCTpauusam

ARCOS Office
Mounting instructions Lock / strike box

You receive a completely assembled lock. Please make sure
that the clamping surface of the glass is grease free for the
lock and the strike box.

1. Mounting lock (G)

Loosen the countersunk screws (4) at the latch side.

2. Remove cap (3).

3. Loosen the now visible two countersunk screws M6x30
(5) with a 4 mm Allan key and remove lock plate (6) with
lock (7) from counterplate (9).

4. Before mounting the lock, stick the enclosed aluminium
strip (8) at the interior side onto the glass. The strip pre-
vents the sight into the lock at the short side of the back-
plate. After having mounted the lock, cut the overhanging
strip off.

5. Screw lock plate and lock with counterplate against the
glass.

Tightening torque of screws =5 Nm

6. Fasten the cap (3) with countersunk screws (4) and
mount lever handles (1). To ensure a later dismantling of a
rose lever, a clipping catch should if possible be seen on the
topside of the lever rose base (2).

Attention:
The profile cylinder lock has a special clamp nut, which has
a tight square fit - light pressure point must be overcome.

7. Mounting strike box (F)

Put the tube sections (15) into drilled glass holes. Screw
through drilled holes with countersunk screw M6x30 (13) (4
mm Allan key) clamp plate (14) and counterplate (16)
together. Hook in cover caps (12) and (17) into clamp plate
and counterplate at pin side (11) and fasten with
countersunk screws (10).

Legend for illustrations

(A) BHYTPEHHSA CTOPOHA (A) interior side

(B) BHELLHAS CTOPOHA (B) exterior side

(C) Ha pucyHke nokasaH neBoCTOpoHHMI 3amok DIN (C) lllustration shows lock DIN left hand
(D) Ha pncyHke nokasaH npaBocTOpoHHUIA 3amok DIN (D) lllustration shows lock DIN right hand
(E) 0TBEpPCTUS B CTEKIE (E) drilled glass holes

(F) oTBeTHasi kopobka, DIN, NpaBoCTOPOHHSIS (F) strike box, DIN right hand

(G) 3amok, DIN, 1eBOCTOPOHHWIA (G) lock, DIN left hand

DORMA-Glas 800.52.057.6.32

Mapanue/Issue 10/02

Ctpanuua/Page 1/2



ARCOS Office
WHCTPYKLUMM NO yCTaHOBKE NeTnu

Y6eautech, YTO Ha KPENexHOoW NOBEPXHOCTU CTeKna B
MeCTe YCTaHOBKM MEeTerNb HET CMasku.

1. MNomecTuTte CTEKNSHHOE ABEPHOE MOSIOTHO B pamy 1
YCTaHOBUTE 7-MUSISIMMETPOBbLIE NPOCTABKM (MUHUMATbHbINA
3230p), NOCIE YEro BbIPOBHSINTE CTOPOHbI.

2. BcraBbTe YacTv pambl (10) B pamy v 3akpenurte mx.
3akpoiite nx Kpbiwkamm (11).

3. Y6eauTech, YTO WapUKONOALMMHUK (9) ycTaHoBMEH
npaBuIIbHO.

4. HageHbte netnio (6) Ha BCTaBMNEHHYIO B pamy 4acTb,
BcTaBbTe 60NT (8) M 3aKpenuTe ero yCTaHOBOYHBIM BUHTOM
(7).

5. BcraBbTe nnactukoBble konbua (5) B oTBepcTUsi B
cTekne. 3akpenute 3aXVMHYI0 NNacTuHy (4) BUHTaMu ¢
yTonneHHow ronoskor M6x24 (3) (C nomoLLbio Kitoya-
LUeCTUrpaHHUKa Ha 4 MM) Ha neTrne C BHELUHeR CTOPOHbI.
MomeHT 3aTsKku BUHTOB = 12 HM.

6. lNMpuknenTe KpbILLKY (2) Ha 3aXXMMHY0 NNacTuHy (4) c
NMOMOLLbIO ABYXCTOPOHHEN KNewnKkon nenTbl (1).

MosicHeHus1 K pucyHkam

ARCOS Office
Mounting instructions Hinge

Please make sure that the clamping surface of the glass is
grease free for the hinges.

1. Place glass door panel into door frame and set 7 mm
spacer plates (lower clearance), then align sides.

2. Insert frame portions (10) into frame and fix them. Set
cover bush (11).

3. Make sure that the ball bearing (9) is fitted in the correct
way.

4. Slide hinge (6) onto frame portion, insert bolt (8) and
secure it with setscrew (7).

5. Insert the plastic rings (5) into the glass holes. Fasten
clamp plate (4) with countersunk screws M6x24 (3) (4 mm
Allan key) against hinge from the exterior side.

Tightening torque of screws = 12 Nm

6. Stick cover cap (2) with double sided adhesive tape (1)
onto clamp plate (4).

Legend for illustrations

(E) OtBepcTne B cTekne (E) drilled glass hole
N Metnsa, DIN neBoCTOPOHHAS (U] hinge, DIN left hand
(M) Ocu pambl (M) frame pivots
DORMA-Glas 800.52.057.6.32

45 %L
e

MNapanune/Issue 10/02

=

>

A
e
[

U

—

(o o o)@

S

o (0 C_Joo)

Crpanuua/Page 2/2



